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Question Number : 1 Question Id : 3354727231 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who founded the Holkar dynasty? | Siede Traaal & G Tore- 17

Options:

1. ® vashwant Rao Holkar I | T4Ed 71d §le@t
2. ¥ Malhar Rao Holkar | AegW 71 §ieet

= % Ahilya Bai Holkar | affgear a8 §lewd

4. % Shivaji Rao Holkar | THEm=t 7 gieee

Question Number : 2 Question Id : 3354727232 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The Indore gharana, well-known for singing khvals, was founded by: | =06 THEH & 177 T g2 o= &
TET e :

Options:

1. # Ram Sahai [ TH 5T

2. ¥ Amir Khan | SITHR 94

% % Alladiva Khan | STeaTear G
4 % Miyan Bakshu | =i serq

Question Number : 3 Question Id : 3354727233 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
'The Discovery of India' was written by: | “TRT & T

Options:

1. % R.C Majurndar | $TR 1 FAgK
2. ¥ Jawaharlal MNehru | FETEiATd "5
3. % MK Gandhi | U e

4 % sarojini Maidu | AT A5

Question Number : 4 Question Id : 3354727234 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Who amongjthe following was the first Chief Election Cormrnissioner of India? | T § & 19 9w & wga g
AT ST 4

Options:

1. ® KWK Sundaram | # & gae0

2 ¥ Sukurmar Sen | FANL G

% % M. Patanjali Sastri [ U0 Od=el e

4 ¥ 5P Sen YVerma | T UL ST FAT

Question Number : 5 Question Id : 3354727235 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

National Voter's Day is celebrated on ______________ of every year. | TEI Hagm T Toed Wadw oy ________ EAR:CIEI
ST 2l

Options:

1. % 25th January | 25 =il
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2. % 13th January | 13 F=ai
% % 12th January | 12 =it
4, % 7th January | 7 S99

Question Number : 6 Question Id : 3354727236 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

which media group won the S-year media rights for IPL in 20177 | g Sz gy = 2017 # smehiud & o 5 &
T HAaT?

Options:
1. ® ESPN | sugtiigg
= % Colors | W

= ¥ Star India | FER ST
4 % Ten Sports | 2 HqUIH

Question Number : 7 Question Id : 3354727237 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who worn the National Snooker Charmpionship - 20167 | TR GHT 01T - 2016 HT T ST

Options:
1. % 5iddharth Parikh | Toegmef oo

= % Manan Chandra | FAT T2
Z. % Mahesh Yadav | 754 OTed

4. ¢ Aditya Mehta | Tiecd HgaT

Question Number : 8 Question Id : 3354727238 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What was Kargil war otherwise knowr 857 | TR 9 F1 3T g &1 § =1 7177

Options:

1. % Cperation Vijay | sTee e

2. % Operation Vishwas | 3ot feamr
= % Operation Shaurya [ e =i

4. % Operation Paramveer | STO0CSH TR

Question Number : 9 Question Id : 3354727239 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following is NOT a landlocked state of India? | T8 & ®9 67 GRT T JF T AT T 51 27

Options:

1. #¥ Chhattisgarh | TS
2. ® Jharkhand | FIREs

% % Harvana | gicamm

4, ¥ Odisha | 2/

Question Number : 10 Question Id : 3354727240 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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‘;%‘?Fhose book titled ‘1 do what I do’ was recently released? | dfitde ‘s 3 o7¢ o8 g &1 et feaTer g1 21 § IR T TS

Options:

1. ® D Subba Rao | geadl Geawrd
2. % P. Chidambaram | o1 =Ean
3. % Raghuram Rajan | T0H T
4 % YV Reddy | 91 ot &7

Question Number : 11 Question Id : 3354727241 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Chitrakoot is a popular name from the epic period of Ramayana. Chitralkoot is located in which district of
Madhya Fradesh? | FEge THT & OgTerTed STater & 0w J g A1 o1 Dage meg usy & e o § R 87

Options:

1. % Satna | Ja4r
2. % Panna | 0dT
% % Rewma | T&T

4 % Sidhi | e

Question Number : 12 Question Id : 3354727242 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Where is the Patiyandai temple and Gola Math located? | UideaTs it ¥ s 78 F51 R0T 87

Options:

1. % Satna | 941

2 % Rewma | T&ET

3. % Panna | wAT

4. % Rajgarh | T=1Tg

Question Number : 13 Question Id : 3354727243 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The private museum of Dr. Raghubir Sinh in Mandsaur is called _____ .| HEER | =T vga i g & et augTe @
..... HET AT &

Options:

1.p ¥ Shree Natnagar Shodh Samsthan | &t SR e @
2. % vachan Institute | Z= GeamT

% % Chirangi Institute | =R e

4 % Jagatpur Institute | ST FEITH

Question Number : 14 Question Id : 3354727244 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Where i3 Chauragarh’s famous Shiva temple? | TS %1 Wieg 9T AT g7 27

Options:
1. % Suhagpur | g9
2. % Madhai | FaTE
3. % Babai | @8
4. % Pachmarhi | T=HE T
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Question Number : 15 Question Id : 3354727245 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Where is the well-known Siddeshwar temple in Dewas located? | a8 H NTekg Ergrat AlT F571 09T &7

Options:

1. ® Madhai | TaTE

= ¥ MNemawar | JAET
= % Kannod | 9=
4. % pchta [ meEr

Question Number : 16 Question Id : 3354727246 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following was referred to as the 'Paris of MNimar' before independence? | Had=a1 € Ugel HHATeET §
# o “TATE o U oF B0 H Iieaad 1o T e

Options:
1. % Barwani | 9=dm™T
2. ® Khargone | S04

3. % Alirajpur | STeRFT

4. % Jhabua | LT

Question Number : 17 Question Id : 3354727247 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The largest state by population in India is____. | &R & B S RT FT@aG S21779 ______ =

Options:

1. % Uttar Pradesh | 39% 0o

2. % Madhvya Pradesh | T near
3. # Maharashtra | TeWIE

4. % Rajasthan | {Fe=

Question Number : 18 Question Id : 3354727248 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which High Court recognized Ganga and Yarmuna rivers as living entities? | fore 3 wametee = T ST ag-=r it
T SieT geerma! o &1 § Heaar &i?

Options:
1. % Allahabad High Court | SRS 35 ~AMHTH

2. ¢ Uttarakhand High Court | STMEe 35 T
% % Madhvya Pradesh High Court | T3 T2 35 - 70

4. % Jharkhand High Court | SIRES 33 ~I1ATAG

Question Number : 19 Question Id : 3354727249 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who is known as India’s Missile Man? | ¥Rd & FaEa A9 & &0 § g &9 F@1 9691 57

Options:
1. ¥ Chandra Bose | @ =19
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2. ¥ AP.] Abdul Kalam | T sfege #amH
3. % N Raghavan | U9 Tge-
4, % Javant MNarlikar | ST AT 1ET

Question Number : 20 Question Id : 3354727250 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

12th Dec17 Shift 2

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

The government of India has announced the plan to privatize which government airline? | ¥RT W@ - g

TR ATS ] = 0T F=T T AT ST S
Options:

1. % Air Asia | 09 OiSET

o Maharaja Airlines | AR TOAE S
z. ¥ Air India | TI€ 5iEaT

4 # Vistara | ToeawT

Zeneral Maths and General Aptitude

Section Id :

Section Number :

Section type:

Mandatory or Optional:

Number of Questions:

Number of Questionsto be attempted:
Section Marks:

Display Number Panel:

Group All Questions:

Sub-Section Number:
Sub-Section 1d:

Question Shuffling Allowed :

Question Number : 21 Question Id : 3354727251 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

335472224
2

Online
Mandatory
20

20

20

Yes

No

1
335472224
Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Annie went 1o the market 1o buy 5 kg onions with just enough mon
mcreased by 25%. What percentage less of onions can she buy? |

Optlons:
1.9 20%

2. % 25%
3. % 30%
4. % 40%

Question Number : 22 Question Id : 3354727252 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

12th Decl7 Shift 2
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A& trouser and a shirt were originally sold for Rs. 400 and Rs. 300, respectively. During a sale, Amit bought the
trouser at a 40% discount and the shirt at a 55% discount. What percent of the total of the original prices did

Arnit save? | U® S T A 1 SE § FHT 400 20 S 300 20 H &l TR0 9N Uk e o S, ST o 0ded @1
40% T §T I FHR FT S5% &1 T O GlaN ATHT - Fol T ook Gral & foha - uida s=a &1

Options:
1. % 48%
= ® 45%

453 %
3

4. % 42%

Question Number : 23 Question Id : 3354727253 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

22 +2x
x+2

=7

Options:
1.%1
2. %0
SR
4 ® 42

Question Number : 24 Question Id : 3354727254 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

If84*=4n thennis  ./Af 8*=4ndl n el

Options:
1.% 4
2 %5
3. VB
4 % 3

Question Number : 25 Question Id : 3354727255 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
In the trapezium ABCD_  AB = CD._ If the height is 3 units, then the perimeter is _ OHeH

ABCD#, AB=CD| Ife 3415 3 5F6 &, d9 IRAM 2l

B 8 C
/ 3
r .
A 16 D

12th Decl7 Shift 2
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Options:
1. % 30
o % 32
3 ¥ 34
4. % 35

Question Number : 26 Question Id : 3354727256 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is the area of a square if its diagonal is 4V2 cm? / Ueh 31 & &IAH FAT g TG SHPT
fgerut 442 @it B2

Options:

1. % 32sqcm | 3291 ant
2. ¥ 16 sg cm | 16 =07 &T
. % 169sgcom | 169 a7 g4T
4, % 52 sgcom | 52 9 @A

Question Number : 27 Question Id : 3354727257 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

it thenwhatis[“ﬂ, 2)af x=2,2=4, a’r[“P! T gAY
X

¢ x J . 9,

Options:
1. 36

o ® 41
o ® oo
4 ® z0

Note: For thisquestion, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 28 Question Id : 3354727258 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find the average. | &g e

4z 80, 19, B0, 29
Options:
1. % 34

o v 44
3. % 54
4 % g4

Question Number : 29 Question Id : 3354727259 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0

If 37— 27x°+5x% —45x+ 7 is divided bvx+3, then the remainderis il

AfE 3x7— 27x5+ 5xF —45x + 7Y x-3 W Taenforg foeam omar & o 9wwer &ar &
Options:
1. %0
2 V7
3. % g
4 % 11

Question Number : 30 Question Id : 3354727260 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If &4 B, C, and D are 4 numbers with the average of the first three numbers as 16 and the average of the last 2
nurmbers as 15. If the last nurmber is 15, then the first number is___. | 9ig 4, B, C, D Ul 4 T%A1] § = 9 ww
T wEat & AT 16 o 2w 3 gt #7 affd 15 31 Ife o 99T 18 8, 97 0w 9T

Options:
1. % 27
2. % 19
3¢ 21
4 % 20

Question Number : 31 Question Id : 3354727261 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In an exarmination, a student scores 178 marks but fails by 32 marks. If the pass percentage is 35%, then the
total marks in the examination is .| U OIS H, U O @1 178 Sl WIH §U U O 32 Sl § SR giman arg

Options:
1. % 500

2. ¥ E00
3. % 650
4. * 700

Question Number : 32 Question Id : 3354727262 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If 7th Novernber 2017 is a Tuesday, then on which day does New year fall in 20227 | Afg 7 Feer8 2017 TF
ATAaR &, 91 2022 # 99 = e fae w2

Options:

1. % Wednesday [ FIaw
2. % Thursday | TEIX
2. ® Friday | @

4. ¥ Saturday | gaR

Question Number : 33 Question Id : 3354727263 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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If the number of seats in a cinema hall is increased by 25% and the cost of a ’gicket 15 also increased b 1[;21%,
then the overall percentage increase in the revenue is: | T AT o0 # et & G@aT 7 25% & The & A147 5 0 @
I AT H AT 10% T Jhg 1AW E, T7 THIEAT H ol WIaT Pl 5O

Options:

1. % 105
2. % 275
3. ¥ 375
4 % 405

Question Number : 34 Question Id : 3354727264 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
1 year ago, the respective ratio ages of 4 and E was 2:4. After 1 vear, it will be 5:6. What is the present age of

B? | U oY UEH, A 3TN B & HaTed o1 aguT 304 A 1 ad a1g, T 5:6 g B & a6 0 I 9T 87

Options:

1. % Syears | 3 a9

2. % 4wyears | 490
| 6T
| 5

3. % g years
4 9 5 vaars

Question Number : 35 Question Id : 3354727265 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

The marks obtained by 10 students are given below. Find their mean. | 10 et grT wm & T= Br mr 8
FAHT AT AT H
35 67, 20, 52, 57, 49 66, 76, 22, 26

Options:
1. % 46
2. ¥ 49
2 % 50
4 % 105

Question Number : 36 Question Id : 3354727266 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The value of 72913is ./ 729'3 & HIA el

Options:
1. %7
2. % 3
3.¥ 3
4 % 11

Question Number : 37 Question Id : 3354727267 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find the 8th term of the sequence. | SFFT FT 58T U5 AT F4
1,2 4 7, 11,.....

Options:
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1. % 22
2 % 15
3. ¥ 29
4. % 28

Question Number : 38 Question Id : 3354727268 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If 9997 - 3 = 6457 - 2354, then x=7 | A7 9997 - x = 6457 - 2354 qrx="

Options:
1. % 5494
2 % 5E74

3. ¥ 5394
4 % None of the above | 3U® § & T2 51

Question Number : 39 Question Id : 3354727269 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

A train is moving with a speed of 180kmyhr. Its speed in mysec is: | UF &4 180 [T/ e & 70T & Iad1 81 S
T o) FE A E

Options:

1. ¥ Smjsec | S HYHFEZ

2 % 30 m/fsec | 20 O HFTZ

3. % 40 mfsec | 40 Hl] T

4 ¥ S0 mfsec | S0 O HETE

Question Number : 40 Question Id : 3354727270 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If the simple interest for & years is equal to 30% of the principal, then it will be equal to the principal after

| AT 6 AT o ToT ST S Gere & 30% & aRa g, 91 ____ & &g I Terel 3 s g

Options:

1. % 10vyears | 1099

2. ¥ 20 vears | 20 a9

2 ® 22 years | 22 T9

4, % 20 vears | 3099

Ceneral Hindi

Section Id : 335472225
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 12th Decly Shift 2
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Sub-Section Id: 335472225
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 3354727271 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
s T JuATETa

Options:
1. % ax
2 ¥ U=
3% W
4 % =

Question Number : 42 Question Id : 3354727272 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

ToreT ATt oF IR H 5T waw At & AT Tan |y At a7
Options:

1. % gum

2 ¢ amm

3. % sy Hm

4 % Hgmmw

Question Number : 43 Question Id : 3354727273 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

TAH | FI AT 4eg 416 AET AT 8 7
Options:

1. v &

2 % EF

3 % o

4 % mH

Question Number : 44 Question Id : 3354727274 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Ty aree o A AR 2 7
Options:

1. ¥ F=ad

2. ¥ T=ad

3. % I

4 % F=dd

Question Number : 45 Question Id : 3354727275 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Terant ok T et 3 Ao & Feug e s GIRETEN

Options:
1. % &=
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= % o
= & o
4 ® g

Question Number : 46 Question Id : 3354727276 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
iR IR CICIRE R I E ] Rt

Options:
1. ® e
2. ¥ 3
3. % T
4 % gy

Question Number : 47 Question Id : 3354727277 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A A AFAT R & WA U e P A S Fe ar sy
Options:

1. ¥ e

2. % @

3. % oA

4. % Fad

Question Number : 48 Question Id : 3354727278 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

"GETHT WY feewE e H G aarge
Options:

1. % Z4+aTehT

2. % gE+HTCAT

3. QaTeAT

4. ¥ ZT+TTHT

Question Number : 49 Question Id : 3354727279 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘i F A e MR H e AT E?

Options:

1. % wef

o ¥ et

3 % foemet
4. % fowef

Question Number : 50 Question Id : 3354727280 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
“Uid JuET € o7 Mo T H H W27

Options:
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1. ¢ gidgd
= ® gEH
I % gy

4. ¥ OTHTE

Question Number : 51 Question Id : 3354727281 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
-z e A P A S arana 27

Options:
1. g aug
= % mHuwg g

3. % ity ga

4 % forEmEE

Question Number : 52 Question Id : 3354727282 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

‘TET U T FETad @ anf F A A e argy
Options:

1. ¥ wgt Ox OgAT

2 & o e

3 % g oy e

4, ¥ ool U FaAr

Question Number : 53 Question Id : 3354727283 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘eATAT BT g © 9§ @ @77

Options:
i

2 % ey
I ¥ et
4 % ofy

Question Number : 54 Question Id : 3354727284 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
‘Wi T T T 9T 590 § #1987

Options:

1. % iy
2 % g
3 ¢ ik
4. % g

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 55 Question Id : 3354727285 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
12th Dec17 Shift 2
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AT T B 29 B &
ﬁaﬁ:rmaﬁia:-‘g{% %ﬁ‘rﬁagr:crﬁ%‘?

Options:

1. & ST STFFR
2. % AT STAET
3. % JUAT STFEW

4. % U TAERE

Question Number : 56 Question Id : 3354727286 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T T areg o Terwie T i # & g - oAl
Options:

1. % @fere Siter = gz T wieard = wr i

2. ¥ o7 # Ternl @ W IO IEE I FaT g
3. % Ol ol weEaT H B g S gt T o
4 % gur § g3t G Hes @ am

Question Number : 57 Question Id : 3354727287 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TCACUAATT 59 U feg, & [0l JTeid S deg, o+ -
Options:

1. % e 0 ardi-arT garm g
2. % TSEehT arcariw =i 58 5
3. % ST FE T AATEN

4, & s G

Question Number : 58 Question Id : 3354727288 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A g e & I A H e aed § -
Options:

1. % wa gmt

2 % g A

2. ® oo gl

4 g At

Question Number : 59 Question Id : 3354727289 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
=it T Uit e 7 -

Options:

1. % gman
2. % ey
3. ¥ givar
4 ® qaw

12th Dec17 Shift 2



12th Dec17 Shift 2

Question Number : 60 Question Id : 3354727290 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
“FAFETAT BT FAE- AT FgTem

Options:

1. % goaum

2 ¥ T e

3. ® o o e

4 ® Tgagy

Rural Economy and Panchavati Baj

Section Id : 335472226
Section Number : 4
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 335472226
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 3354727291 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

How many agro-climatic zones are there in Madhya Pradesh? | Wed 0ge # g Siu-Seeg 5 57
Options:

1. %5

2 % 3

38 4

4 ¥ 11

Question Number : 62 Question Id : 3354727292 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

'Bank Sakhi'is normally a _________.
Options:

1. % SHG member who acts as a Bank Agent | THU==T G Al <&@ THe & &1 H 71 faT 5
2. % Panchayat Accountant | T=ITAT #EEHT

% % Upsarpanch | 390

4. % Woman Gram Panchayat Member | ATsaAT TH U= daed

Question Number : 63 Question Id : 3354727293 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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g r I—Iuman Development Report 20186, India’s HDI rank is ______ ) w fawra e 2016 & araw, ¥R #

______ B

Options:
1. % 129th [ 1297

= ® 130th ; 1307
= % 131st ) 13140
4 ® 135nd | 13200

Question Number : 64 Question Id : 3354727294 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following is one of the primary objectives of MNEEGA? | FaEiET # € @19 A= & nraiie Seaai i

e &7

Options:

1. % Addressing chronic poverty by providing guaranteed wage employment to unskilled labourers | &g
2 ® Building darns | 9a sy

% % Cleaning public places | ATdi-d T4 &1 AT

4 #® Employment to skilled engineers | Fae =121 @1 =TT

Question Number : 65 Question Id : 3354727295 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Sanit%a;tion function comes under the purview of which of the following? | Taegar #1 WaERET # & frad saria
ST 37

Options:

1. % State Government | =49 GTFT
2. ¥ Gram Panchavyat | 70 T=ad

= % Zilla Panchayat | T /=T

4. % Janpad Fanchayat | F=0 0=

Question Number : 66 Question Id : 3354727296 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following is NOT considered as a farm mechanization device? | FaiaiET & & e v famesem
TEamee (Fi AETweT U TE AT AT 87

Options:
1. % Bullock | &

2. % Electric Pump | Seiged o

3. % Tractor | 3¢
4. % Sprinkler systern | g9 #1344

Question Number : 67 Question Id : 3354727297 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Wwhat is the brand name of products I'ﬂElI"kEtE'Cli by Madhya Pradesh I'-.-'IiII'lOI' Forest Produce Federation’? | A ‘;lé\'-?]'
HIEAT BIET TISTE Bt (Hedf W /Y] - JeuTg, &) FNT M0 & JeuTe] & e 1 418 747 &7

Options:

1. ® Narmada Ayurvedics | THET A CEd
2. % Champa Herbals | =T gaed
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3. ¢ Vindhya Herbals | e geded
4 % pranya Ayurvedics | SReAT AT

Question Number : 68 Question Id : 3354727298 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Sarnpocrna Gramin Rozgar Yojana was launched in which year? | S0l TTHIT IHATR T #T 09 o o # T
T 474

Options:
1. % 2001

= % 2005
=z ¥ 2009
4 ® 2013

Question Number : 69 Question Id : 3354727299 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

MNMAET stands for __________ | TATHE ST T e W AT |

Options:

1. % New Methods of Agriculture and Technology | =2 BUSH ATH ket TS ¢ Al

2 % National Movernent for Agriculture and Textiles | J&Ha TaHe BR Tiiwow U2 TFacEed

2. % New Materials for Agricultural Developrment | = Beaea B Jliwear SaaiHe

4. % MNational Mission on Agricultural Extension and Technology | S8 e ST Tieeay, TFaed a9 U S imrr

Question Number : 70 Question Id : 3354727300 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Aam Aadmi Bima Yojana provides social security to ________ .| TH STEHT ST AT
T W

Options:

1. ¥ Technicians in rural areas | WA &3 & TE= 8T

2. ¥ 48 identified vocational | occupational groups | rural landless households. | 48 Uga aTH sqTEEa® |
TSE T | WA GiEE e i

Z. % Engineers in urban areas | Sger 837 H ST
4, % labourers in both rural as well as urban areas | TTH FT M50 ST &7 | 5 are ofife! @t

Question Number : 71 Question Id : 3354727301 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Fajiv Gandhi Grameen Vidyutikaran Yojana has been replaced by
T T T 4

Options:
1. # Pradhan Mantri Ujjwala Yojana | Te=AaT 06T FH-T
2. % Sansad Adarsh Gram Yojana | @6 sl TTH =T

2. ® Bharat Nirman | 9wd f=afr

4. ¥ Deendaval Upadhyay Gram Jyoti Yojana | S-eaTd SUTeam TTH s a1

Question Number : 72 Question Id : 3354727302 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Which article of the Constitution directs the state governments to organize Village Panchayats? | eI T BT
AT STt U= AR H 1 TTH WA T eia eud He ®1 o gl 27

Options:

1. % Article 32 | arfedg 32
2 % Article S0 | aredg S0
3. % Article 48 | arjedg 48
4 ¥ Article 40 | arfedg 40

!
!
!
!

Question Number : 73 Question Id : 3354727303 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
When was National Cormrnission for Wornen established? | T@ETIT%FIT T T TS e g AT

Options:

1.9 194z
2 % 1995
3. % 19939

4. % 2010

Question Number : 74 Question Id : 3354727304 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the foglllomng iz NOT considered as a Non-Farm sector activity? | Faioas # 9 fre fe-giv gz nigfta &
= H 751 AT AT 57

Options:

1. % Handloom | 22a0

2. % Repair workshop | 98T & AT

= % Dairying | 2 3=

4. % small road transport | F12 GS® UiagT

Question Number : 75 Question Id : 3354727305 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Wwhat is the objgctive of ‘Mukhya Mantri Khet Teerth Yojana' of Madhya Pradesh 7 | T3 U&a ol ‘Jead= 9a a2
AT W T FAT 57

Options:

1. # Sending farmers on pilgrimage | Teramt @t el om=r o d==r

2. % Sending farmers & family on tour to south India | TFaET 2 398 Oiaw! &1 ST A & 9= 0 9=-T

3. ¥ Sending farmers on tour to advanced agriculture centres jexperts | THa! & e i dal o | et &
T 1T

4. % Sending farmers on holiday trip | FEaT! @1 SIE@E A7 0 91

Question Number : 76 Question Id : 3354727306 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
According to an ICAR study report in 2015, the post harvest loss of fruits and vegetables (curmulative wastage)

iz estimated to be _______ | 2015 ¥ UF AEETR e e & Gatiees bel Y Aot (Fat S/ea) & B gl &
AT FEA FTERT _______ HEEAECEICE
Options:

1. ® Lessthan 4% | 4% 9 &7
o o 458 - 15 88%
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3. % 4077 - 45.55%
4 # 50 43 -55 22%

Question Number : 77 Question Id : 3354727307 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following is NOT a function of Gram Panchavyat Secretary? | TRRied § & w1 TH T=hd T &7
1 g g7

Options:

1. # Upkeep of records and registers | RaTe 3T Thaeet! & AT

2. ¥ Presiding over all meetings of Gram Sabha | W0 97 % @7 daw! &7 STy T F 7

Z. % Initiate steps to implement the resolutions of Gram Sabha | TTH 4T & WeqTal B fraieag e & o smass
o H FATAT

4, % Preparing the minutes of the meetings of Gram Sabha | TTH T4T &1 Sa® ! &7 F19 THaae 42 Fear

Question Number : 78 Question Id : 3354727308 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

MName the prograrmme of financial inclusion of villages with more than 2000 population: | 2000 § ¥ smamET
FIERIEIED T oF HTHEH BT A0 Sa150

Options:

1. ® Swavalamban | TEE#ET
2 ¥ Swabhiman | FETHET
= % Swagat | T

4 # Samavesh | TAETET

Question Number : 79 Question Id : 3354727309 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the prime function of ATMA? | TETHT HT T&T FT F27 27

Options:

1. ® Research and developrment | #7er U9 9@

2. % selling technology | Wt & T

3. % Helping technology companies | e -t & agTaaT HeT
4. ¥ Dissermnination of technology | W &1 0em

Question Number : 80 Question Id : 3354727310 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Wwhat is the ggective of holding Gram Rozgar Diwas in Fanchayats under MGNREGS? | AT & afa7ig w=maa i #
ST TR S St T T Tee T &7 3899 51T 57

Options:

1. # Educating Village people to take up self employment | S22 TR &< & 160 T & &0 & T8aT s
2. ® Generating emplovment for farmers | TFamET & &0 TRATR gHT @1

3. % Improving the employment opportunities in villages | et # T & /=@ § e

4. ¥ Registering job demand and grievance redressal | @l &1 ATT & T@ma Tawor o= #ear

Cormputer Knowledge
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Section Id : 335472227

Section Number : 5

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 335472227
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 3354727311 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
How many binary nurmbers are created with 8 bits? | 8 o & Reat smg=er damy idT &1 = awd 1 87

Options:

1. % &4
2. % 16
2% 128
4. ¥ 258

Question Number : 82 Question Id : 3354727312 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

____________ is not a computer language. | ____________ % PUYIUET ATE g1 8]
Options:

1. % C++

2. ¥ LOTUS
3. % BASIC
4 % JAVA

Question Number : 83 Question Id : 3354727313 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
____________ is an example of a math function in M3 Excel 2007, | TUTH 0Fad 2007 ¥, BT treparT

Options:

1. % IF

2. % AND
2% COUNT
4. % SORT

Question Number : 84 Question Id : 3354727314 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Anti-virus is installed in a computer to: | T H GelaTa0d S8 o] SE21e [9T ATdT 2.
Options:
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1. ¢ safeguard the computer from virus | TR ® GREE | GUaT 78 & &y
2 % safeguard the cornputer from fire | THYET ® AT & GUiad v@- & o0

% % Improve the memory size | AN 5T g5 F o0

4 % Install other programs | ST WOTH SHe 1A e & o]

Question Number : 85 Question Id : 3354727315 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
____________ programs can be used to accomplish functions indirectly that an unauthorized user could not

accomplish directly. | ____________ T JUAHT SIS &0 & 3 B ! QU ®e- o Tl Tt <17 a1 & AT 0 SiTregd
IR T T & & 0T T8 e TaT gl v

Options:

1. % Zombie | AT

= ® Worm | T

3. ¥ Trojan Horses | 24 516

4. % Logic Bomb | #T® 918

Note: For thisquestion, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 86 Question Id : 3354727316 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the Recycle bin? | Wamgied o= Fa1 87

Options:

1. % a software for deleting files | WEad f2eie @ & oy HTFea

2 % A default folder for ternp files | 3AT BISaA & o] T [2HIAE BIASt

3 % A default folder for downloads | SEAARH & W T# EHTHT BIFST

4 ¥ i termnporary storage for deleted files | 2T @1 T8 SEAd F 6T 0% ST 9210

Question Number : 87 Question Id : 3354727317 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following term is related with legends in M3 Excel? | QTS Ugde §, FHT 8 & B9 A7 el Gohider
(g & HaTed 27

Options:

1. ® Clipart | feomsmd

2 % Wood art | g2 A
% % Operator | AT
4 ¢ Chart | @

Question Number : 88 Question Id : 3354727318 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

The sections within a document that appear in the top and the hottomm margms are knowr as; | T Euﬁ_\ Qﬁﬂ ﬁ Eﬁ
H e ST T 3 Sed AT oY fome & T .

Options:
1. % scroll bars | TEIA a1

2 ¥ Header and Footer | 8¢ UTd Fe
3. % Cmick Access Toolbar and Status bar | 5w U9 gaar Ud 4ocd ar
4 % Ruler and Taskbar | ®a¢ 3T TR{HAT
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Question Number : 89 Question Id : 3354727319 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Internet explorer 15 a fan

Options:

1. ® company | @7

= ® internet | EEeAT

Z. % Search Engine | ¥ 59
4. ¥ Web browser | 99 I3

Question Number : 90 Question Id : 3354727320 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following is an output device? | 58 & T4 0% AL 1Sd5d 87

Options:
1. % MIC | TAsmEdEr
2 % Mouse | ATIH

3. ¥ Speaker | T
4. % Keyboard | #a2

Question Number : 91 Question Id : 3354727321 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which button do you click to add up a series of nurmbers in MS Excel 20077 | TATH TFa 2007 H, 310 F@arst &
Eﬁﬁ?{ﬂﬁ@ﬁﬁ?ﬁqﬁmaﬁmﬁﬁmaﬁ%

Options:

1. % The AutoSum button | STEH &=

= % The Insert button | A @7

3. # The quick total button | 3@ Tied =e
4. % The total button | T 729

Question Number : 92 Question Id : 3354727322 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following COI‘HI‘I‘LELHQ 15 NOT avaﬂable i Page Layout menu in M5 Word 20077 | THUIE T2 2007 ff
T SrerTae B 7 T 8 1 ) e Sue A g 27

Options:

1. % Zoom | 3

2. % Page Background | U9 d@UTEE
% % Page Setup | U Heam

4. ® Paragraph | TTE

Question Number : 93 Question Id : 3354727323 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A exarmple for magnetic storage device is: | TR GRS 1ZaT5H &1 TF Ja500 &

Options:
1. % OMR | STAMT
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2. ¢ Hard Disk | 712 2%
3. % CD-ROM disc | HiZ-UF Zaw
4. % Memory strip | HANT &0

Question Number : 94 Question Id : 3354727324 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The three main components of a cormputer are: | TF FAYILT & a9 &I 7a0d AT 51T 8.

Options:

1. % CPU, Memory, Tape | #iti, BOKT, 27

2 % Tape, Mermory, Floppy disk | 70, BERT, TamT 9w
3. % [}O, Printer, Mouse | 3/, e, ATaw

4 ' CPU, 1)O, Mermory | €HE, e a7, et

Question Number : 95 Question Id : 3354727325 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In which tab is the symbol group available in MS Excel 20077 | TATE Ugds 2007 §, Faw qu & ta § sumger ghar

Options:

1. ® Insert -» Links
2. % Insert -» Tables
= ¥ Insert - > Text

4. ® Insert -» [llustrations

Question Number : 96 Question Id : 3354727326 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
VGA stands for: | @y @O0 #0 2:

Options:

1. ¥ Video Graphics Array | SEar TTitgd UF

2. % Wisual Graphics Adapter | Teara mited T2TET

Z. % Virtual Graphics Access | TE[aTA WIhdd UFed

4 % volatile Graphics Adapter | SIACES Thed TSET

Question Number : 97 Question Id : 3354727327 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following is NOT an email systern? | 7907 § & %19 A7 UF S0 [F6cH 981 87

Options:

1. % wrwrwr google com
2. ® v hotmail. com
3. ® yrurwr outlook.com

4, % yryrwr yahoormail.com

Question Number : 98 Question Id : 3354727328 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following has the highest storage? | FaaEs # & Torad e s=1aT G2 T =1 9e4a1 57
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Options:
1. ® Megabyte | ATEEE
2. % Gigabyte | TimmamEs
3. ¥ Terabyte | e
4. % Kilobyte | Frelamge

Question Number : 99 Question Id : 3354727329 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
M5 Excel is used for: | THUE U FT UL HHT & T T Jme 2

Options:

1. ® Documents | STHgHd
2 % Presentation | WEgide

z. ¥ Spreadshests | @sdEd
4. % Sending message | HIET BET

Question Number : 100 Question Id : 3354727330 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which one of the following shortcut keys is used to underline the selected text? | FHATAET # § 19 91 aidwe &1,
el T T 3T 1 SISTATe w3 oI SHdATe &1 AT 27

Options:

1. % Ctrl + Shift + U
2. % Ctrl + Shift + D
3V Cirl+ U

4 % Ctrl + D
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